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40 7) 3141 Fu 43 (0. D. Lab)13.23
53] 37441 /11 w2 () 7 45 =)13.24
6[ 5] 610% /i me3 (. D. Lab)13.25
70 1] 312w HEz%E3 (0. D. Lab)13.52

8 8] 6447 1 0 2 CHF FE 55 /) 13.62
(3#%8] (  -0.2 m)

BT 09

1[0 812813)11 48 #nZ= 1 (W= £H) 13. 66

ARF AN

20 1] 896 K w2 Bk 7 fE &)13.67

30 6] 2679 m  fuqe2 () i % —)13.81
40 5] 325k e (B R A —)13.96
503] T3+ = 7= » 2 (Fn St K F)14.13
60 7] 705/ 15 Fa2 (7 H B R1417
70 2] 901/ g s 4 1 OFn 5F 25 =)14.27
[ 4] 2467w 392 (FF W £ JF) Ri%
(5#8] (  -1.3  m)
10 7] 9200 55 % 4 1 (R 45 =)14.36
20 3] 10147 2 1 (B FE) 14. 44

3L 6] 767 A4 M 1 (1 >t K Fn)14.45

40 5] TS0 o L (W1 — 4)14.48
5[ 1] 401w F 452 (Il # A C)14.62

6[ 4110364 JiI =2 (& A H)14.67
TL 8] 1845l ff5 4= 1 (] /1 — ") 14. 91
[ 2] 6243 v i 2= 1 G B N) RIS
(7481 ¢ 0.9 m)
10 1] 25046 4 "k 9 2 (FF 93 J) 14,50
2[ 3] 323iriE B 1 G FE %5 =)14.65
3[ 6] 256% 3% Han 2 (Il B A C)14.73
47 4] 788 5 % A 1 (Fn Jt K Fm)14.71

50 2] 91978 Havn 2 (i Y % =)14.78
60 7] 759 »v =2 (it K Fn)14.94
108110120 K <nnl (E A 401497
8 5] 13K mhoy 1 (A [ %6)15.16
[9%8] (  -0.4 m)

106) 319k 10 % <1 (B fE % —)14.13
20 711054°% % a1 O 7 fF #)14.69
3L 5] 719k 46 Fl 21 (F0 St K Fn)14. 98
A0 10 1798 L W1 (8 & — ) 15.24

<A URF

40 8111121 A % 1 Ol B A C)15. 24
6[ 3] 270ft X552 (= #F 6)15.37
70 41 785m 1 2= 3z 2 (fn & K F)15. 40
8[ 2128027 1 3 4 2 (S £HE7) 15. 83

[248]) ( +0 2+ m)

Y

1[ 5] 370%%% 72 (G & B =)13.48

2[ 6] 6425 (k3 w2 CBY JE &5 /X)13.50
30 4] 3TN w2 G & % =)13.51
AL 8] 71815 & Jy 2 (Fn K F1)13. 61
5[ 2] 321% i "y ;7 2 CFF i 55 =)13.75
6 7] 24;55’“{{@ w2 (G oA 913,77
70 1] 35}:;1;;;’@ # 2 (B p % —)13. 87
8 3] 308 =y 2 (BR fE & —)14.33
(441 ( -0.3 m)

10 5] 3788k ik« 2 (1 % %5 =)13.54
20 6] 3798 5 N2 (W1 85 45 —)14.12
30 4) TT6 p py 3z 2 (Fn e K Fn)14.27
40 11281751 35 1 (S £HE7) 14,33
5L 7] 24205 ' m L GF O T %)14.35
60 3] 2917 4 fif & 1 (FER 5 £ 1) 14.46
T02] 3175 5 w5 & 2 CBT JE %5 =)14.53
81 8] 375k Emez 2 (] # & =)14.81

[648]) ( -1.4 m)

10 2] 1T7hiE 7eow 1 (6 — 1) 14.68
208) T125 5 w1 (7 M & 1470
3[ 3] 234=w5-1 7 1 G JE — 1) 14.92
40 7] 228503 a1 (I R £ ) 14.92
506] 3k Zixz2 (B 4 [ #)15.02
60 4] T07iL ik wexp 1 OF H 7 ¥015.30
[ 11751 2 g 2 (R OB K ) Ri5
[ 5] 90389 JF &% 7 1 (Fn % % =) RS
(8#8] ( -1.3 m)
1031 2698 J s 1 (W1 @ 45 —)14.54
20 611671470 % A+ 2 (FkkE-AE1TR) 14. 70
3[ 4] 45% g TRl (B R —)14.82
41 2] 278 i s | (W @2 & )15.02
50 71 923{¢ 1~ #i ¢ 1 (Fn g 55 =)15.08
60 8] 43 #f el (B R & —)15.31
70 1] 2025;3;;?% a1l (= # dk)15.32
[ 511002k % w1 (B A )RS
(1048] ¢ -0.2 m)
10611035012 |- Fufe 2 (& A 41)15.08

20 4] 614E % " 2 1 G JE %5 )15.13
3 3] 243t 1 (B FE — H)15.22
40 7] 7085 " g qe 1 (7 B 316,23
5[ 61281647 i 7y 0 1 (V72 EHiAT) 16,52
60 8] 1125 i 1 #1 2 (BT Ji£) 15. 54
70 2] 6384 a0 A 2 GBF JE 4 )15, 71

TAxay &



[(11#8] ( -1.6 m)

10 4] 284K°E " Zs g 1 B JE = 1) 15.52
20 512819111 m " F s 1 (S 7= X HEMT) 15. 54
30 6] 326 " ixn | GHF HE & —)15.68
a3 8 A #MmlGE A 1591
50 7] 1841 mama 1 (R e K Fn)15. 97

=

6 211011 % e 71 GE A )16.37

70 8] 383 |1 w1 (I ) 16. 64
4 A
im0

+

1 387 5 412 (B &L % —)12.62
2 6458 ham 2 CBF & 513,07
3 AEhs w2 BF fE #)13.16

+ +

+
SO0 o0000S
NMNNARMBRMRARND

4 314,59 F43 (M. D. Lab)13.23

5 37400 k2 G @ =)13.24 +
6 61047 w3 D.D.Lab)13.25 +
7 370 %m% 2 (8 3 55 —)13.48 +
8 F3 TS

642 5 5, fise 2 CA A2 28 7<) 13.50 +

BF 100m REE448)

[148] ( -0.5 m)

10 5] 840°KiT &2 3 (F 7% v ZA0) 11.01
2[ 3]15104%JF "% A 3 (TRIANGLE)11.16
3[ 7151054 "% 3 (TRIANGLE)11.32
4[ 6151027 & gy 2 3 (TRIANGLE)11.32
5041 82150 " s 53 (Pt SCEEH)11.33
6 11 845\ 1 s i 2 (FH¥F v XAC) 1. 45
70 8] 81011 4 "' A 3 (FH* v RAC)11.45

8 2151070t M A 3 (TRIANGLE)11.48

[3%8] ( -0.6 N m)

1[ 515106/ k& 4~ 2 (TRIANGLE)11. 68
2[ 4] 909K W w5 m 2 (Fn o & =)11.82
30 3] 361/ & k2 (3 85 % =)11.89
AT 6] 1283 M (BRI FHE)11.90
5071 30741 " se g2 G Il HO11.92
60 2] 3695 1L H A2 (8 /5 & =)12.06
7010 30780 m ¥e w1 G JE 45 =)12.09

A DX TR

8L 8] 1914 m fh2 (W B — 1)12.36

[5#8) (  +0.1 m)

10 6] 3005 4% 72" #e2 (F JIl #0)12.06
20 7] 3393 85" gl ()1l 5#012.09
3[ 3] 3295k ' g2 G FE 55 —)12.17
40 1) 8TV Wy k2 Ot 76)12.28
50 4) 3874 dhowhi2 (B & 4 =)12.48
60 2] 7327 i " o2 (5 W O R)12.58
70 512801k 7 B 4 2 (S 7= £HE17) 12. 60
8 8] BA6H Fr ik 2 CBF FE 85 A)12.92

(12#8] (0.2 m)

10202814048 4 2 1 (W= EH7) 15,04

2[ 8128154 i 4 m 1 (&= £4i47) 15. 37

3[ 3] 6125111 2 & | (B JE % ~)16.27

A[ 711005(f " & il G K H1)16.46

5[ 6]1052% 1 o L (B 7 £ %)16.52
[ 4] 2487k 5~ % 4 1 GFF HE = ) RiB

[ 5]1004% % ¥mE2 G5 A ) kig

[248]) ( -0.8 m)
104] 8156% " g A3 (FH¥ v R0)11.45
20 5] 830f+ kw3 (FHF v RAC)11.57
30 6] 620711 e Fn 2 GHF JE 5 S)11.69
AL 1] 7794 kw2 (Fn Y& K Fn)11.73
50 3] 547% A skes 2 (<AL55AC)11.78
6 7] 81% mE(2(D.D.Lab)11.87
[ 2121625 w53 Ul 8 A C)RS
[ 8] 3475 "/m " 22 & 2 (B FE 5 =) RiB
[4#8] (  +0.2 m)
10 8] 31T Heda 1 (B A0 46 3D 11.70
20 6] 255 5 epe2 (1 A5 45 )11.74
3L I N4 e % 2 (LR RE ) 12,02
41 4] 3644 12 g2 (9 A & 5)12.03
50 2] 11845 NI oy 4w 3 (LR ik ) 12. 03
60 1] 377 m &= 1 (31 #5455 —)12.45
70 3110337 ik k2 (E A H)12.75

FHT~ T2

[ 5] 2970 “owp 2 (BB + ) RIB
(6%8] ( -0.1 m)
106] 91 m w2 (Rl ot 45 =)12.19
20 3] 306/ # g2 (K A0 B 39)12.22
3[ 2] 874w wmym2 Ul # 76)12.25
40 7] 314k A m2 G Il #012.30
50 5] 1285 " (AT iR/ F48) 12. 31
6 1116615 v i A 1 (I A 8 76) 12. 35
70 8] 2894 W& 2 (BEAH L H)12.63

EXEL Vavy

[ 4] 33 & rik2 Gl JII RRE



(748 ¢ +1.8 m)
10 311023°E4¢ @ km 2 G A H)12.34
20 2] 237H7F W w2 (BF BE . H)12.39
308) 13130 1w k  (FTIRV/NF45)12.43
A0 10 208 i 2 O I #)12.47
50 7] 823 min2 (B F)12.53
60 5] 2924 m s 2r2 (REAS & 1 F)12.66
[ 4] 128K TR a2 (A MRS

FAE o

[ 6110257 i & k2 GE K HHRG
(98] ¢ -0.1 m)

106] 91410 ke 72 (Fn Y6 % =)12.20
20 311765 ks pwcss 2 (Fn Ot K Fn12.73
30 8] 1150 i fe Fn 2 OFF FiE)12. 89
A[ 2] 3430 HT ma 2 CBF & 8 —)12.90
5[ 11 27251 A2 (= 45 Jk)12.98
60 41 15651 Scm1 G 8 — )13, 11
70 51103440 "3t k2 GE A H)13.11

FAR T

8 712824505 oy 1 (S 7= 4 13. 28

(11%8] ¢ 0.5 m)

10 4] 3254511 "% e 2 CBF B 55 =)12.70
20 2]1265% 1 =2 (1 B #H )12.75
30 8] 116 4 "' A 2 (5 Ji£)13. 09
41 5110038 I &1 (GE A H)13.10
5[ 312822% 7% HE A 1 (X EAEAN) 13.12
50 6] 7762 m # &2 (Fn % K Fn13.12
7010 M7 ey 2 G JiE) 13. 22

8L 7] 13051 T2 OF W OE 1371

(13#8]) ( -2.0 m)

106] 210% 5 /o1 (& &
20 5] 303k 7% g 1 CHT 2
30 1] 59 (& 2 (K &

b s

i

) 13. 02
=)13.29
#)13.45
40 3] 733% A k2 (7 H ) 13. 48
5[ 4112138 = bz 7 1 (77 W 2% F)13.73
60 7] 3993 =" k2 (I B)13.77

A Tor FF 38 o

[ 2012187771 gl GBF R A R

[ 8]11208/n 4 # A1 G FE — ) RIH
[1548]) ( -2.5 m)

10 6] 268/ & A2 (@ f % —)13.30
2071 772 1y b2 (Fn 6 K Fn)13.34
3[ 1112169 5 4 1 (7 R 2% J5)13. 88
A0 511670/11 0" A 1 Ol R 5T 79) 13. 99
50 4]11163% s g = 1 ()& i kEt) 14. 08
6 8] 6197 & g A2 GFF HE & ~)14.15
10 2] 15Tk & w1 (Fn 56 K Fn)14.23

[ 3] 7831 & 2 # 2 (Fn Y& K Fn) Rim

[8#8] (  +1.5 m)

103] 694 ¥ 43 (M.D. Lab)11.97
2[ 4] 350f g ym 2 OGP FE 5 =)12.29
30 5] 27505 Tk w2 (2= 46 4K)12.60
41 1] 360K B.os 1 (F 5 % =)12.68
5[ 8] 194w = 2 (3] 85 — 11)12.68
6 2] 638m@ BE L G JE 55 75)12.73

TL 6] 625m )il g 2 GO 8 55 /X)) 12. 84

A4

[ 7128050 1" s i 2 (X7 SHM) KI5
[1048] ( -0.1 m)

YesF Ay

1[ 6]5103&{ 0B k1 (TRIANGLE)12.42
2031 193" 1 g2 (8 85 — f1)12.81

3[ 4] 2394 7T mz2 G EE . 1)13.07

40 1] TISHIk{H sif 2 (5 M & 9R)13.25

5[ 2] 1654 & f 72 (S % =%)13.28
6 7116496 4 Bt L2 (X% =%)13.39
ey

70 812838 5w A 1 (S EfffT) 1351
8[ 5] 2662 4 Fn o2 (= 4% 4K)13.55

(1248] (0.1 m)
10 6] 321585 g’fiéwa 2 (f) fE %5 —)12.96

TAYE A

20 41 1215 e A (FFR/NF48)13.00

30 2128033 " 3 sk 2 (X EAEM) 13,14

A7 1]17591 F skvkpn 2 (F0 Ot K #m)13.16

5[ 715109 % 1, % 3 2 (TRTANGLE)13.20
60 3] 264 0 Fr/z2 (= 4% d0)13.21
70 81283178 = He % 1 (S\ e E4Efh) 13,28

[ 5] 309% 4" sia2 Gl ) H)RE

(14%8] (.  -2.1 m)

YR AT

102] 916 & w2 (R0 O 28
20 7] 768s 4+ pze2 (Fn O K
3L 4] 56y B ps2 UK 7
41 112810114 Fakrs 2 (SWizEh
5[ 8] 126k 4 #t & 1 (¥F

6[ 5] 628% 11" 5k me 2 CBr JE
T03] T4 1 @2 (Fn )k

8[ 6]1770p8 1= 1% 4+ 2 (Fn Mt

[16%8) (  -0.5 m)
10 6] 34475 i 2 2 GBF FE 5 =)13.21
20 5] 34008 F E k1 (B fE & —)13.25
30 3] 623511 e A2 (7 FE 5 <) 13.53
A0 111009/ %" " 22 51 1 (G 1) 13. 55
507) 7134 3¢ scmi2 (Fn Jg kX Fn)13.79
61 2] 34207 & s o1 (fF JIl #0)14.05
[ 4112021/ & A1 GO FE — ) RIB

FxH FI

[ 8] 209% we 1 (= B JHRG

o |

13.23
13.40
13.49
13.50
13. 51
13. 81
13.92
13.97

T
2 ESsHE

oot B



(17481 ¢ 0.8 m)
10 7128345 k"o 2 1 (S0 7= £HAT) 13. 56
20 4] 3Mi'm g1l () 3)13.86
3[ 3128290 W 4 4 1 (KW= EHEMT) 14,00
AL 1] 349m 7 s mp 2 G JE 45 —)14.08
5[ 2]17683 & & k2 (Fn ot KX F1)14.25
6 8112031 & - 1 CBF FE — *1)14.35
T06] T179 /e 2 (5 B2 90 14.92
[ 6112233 /w5 1 B FE — ) ki

[1948] ¢ -1.1 m)
104] BE X /ge1GE A #)13.95
20 71 1814 A ff Pk 2 (Fn Y& K F1)13.96
306128261011 45 B 1 (X7 E4#i47) 14. 03
40 2] 755% @ 152 (Fn Ot X Fn)14.56
5[ 311763y & 1 2 2 (Fn St K Fn)14.74
6[ 8]1761# w2 (Fn J6 K Ffm14.77

T 1112045 % " 2 1 Gor & — ) 14. 86

sy ae,

8[ 5] 386 m w1 (I =) 14.97
[2148] ( —29 m)

104] 2105 s\l (= 4 db)14.58
20 6] 306/ 5 gy 1 GF B %5 =)14.69

3[ 5] 3484 s ez 2 CBr JE 55 =)14.82
41 3] 30946 7% b k1 G JE 5 =)15.24
5[ 112830% & " # e 1 (X iz EA4HMT) 15. 28
6 212074 4 52 to 1 CBF £ — H1)15.36
T07) 2624 1 4l (s 8% 55 —)15.46
[ 81284451 " we g 1 (S EHHT) KB
[2348) (  -1.1  m)
108] 340% m i A1 G Il 50 15.95
20 5128215 5. 4t e 1 (X 7= £HH) 16. 15

3[ 312828 fck Sz gr 1 (S0 7 Hf)16.27
4041 3431w & 41 GE )1l #1648
5[ 6]1211% % w A& 1 (B B — H)16.57

A4 Va

6 711201 JF w1 GFF 2 — 1)16.99
[ 21284041 = " 45 £ 1 (W= FHIM) KRB
4N AN
[ LRy |
1 840 KiT G2/ 3 (A% v RA0) 11,01
25104 %3 "% & 3 (TRIANGLE)11.16
351054 7% 53 (TRIANGLE)11.32
45102 % "By % 3 (TRIANGLE)11. 32
5 8215 o 3 (FEESCEEF)11.33
810 [ 4 s A 3 (FHFvAAC)11. 45
845 11 B i 2 (F ¥y RAC)11. 45
8168 A3 (FHF v RAC)11.45

)

X
| | | | |

Coococecoce e

S OO

o OC1 O1 O1 01 O1 G1 O

[1848] (  +0.2 m)

10 4128045 4 " 4r 2 (S £4811)13.78
2[ 8] 25512 15 w22 (= 45 J6)13.97
301128237 5 ¢ 1 (X £HfT) 14,08
A[ 612835 A A1 (S EHE) 1413
5[ 7] 2614 3F mgze2 (= 4 4014.13
6 3128321 fi Hitap 1 (X 7= EHEFT) 14. 30
70 2] 133%ifh FLa b 1 Ghr Ji£) 14. 35

8[ 5] 284 11" w1 (W1 5 4 —)14.84

[2048] (  -1.4 m)
1[6]2837p [ g 21 (W= $H) 14. 65
202] 9% & w1 GE A )14.81
3[ 5116725 5"y A 1 (1l BLK ) 14. 86

AL 711207 B F 1 G & — 1) 15.16
5[ 4128274 1117 1 (X R 15. 22

A=A ary

60 8111694 3 i th 1 (L2 i kE)15.32
70101212555 g & 1 G E — 1) 15. 46

ALAH U a TS

[ 3] 6417 e 2 g 1 CBT V& 4 ) RIS
[(2248) (  -2.3 m)
10 111020% 4" 1 GE A #)13.28

VA Vb

2[ 3] 335z 4=k 1 (AR E 25 —)14.93
3[ 6]2841F A g 2 1 (S AN 15. 27
AT 2112225 " e 46 1 (G B — ) 15. 27
5[ 4] 12877 5% " 72 5 1 (57 J£) 15. 33

INAT ¥k

60 5] 3374 )il kAl (b JII 5#)15.36

70 8] 338% i we 221 ()l #1573

ar) Avvys

8[ 7112194 ¢ &= 4k 1 (F1 IR 3£ J5)16.18
[24%8] ( -0.3 m)

10 8] 33441 ) 1 (B B %5 —)14.66
20 6] 789 - #iml (Fn 3t K Fn)15.78
3[ 4] 337w & A1 (Fl B2 25 —)16.05
41 71 80785 8 " Vi 4 1 (P SCER 1) 16. 59
5[0 5] 787 m +# A1 (F1 3% K #Fn)16. 68
6[ 2] 12jm “1 G H1)17.73
70 3112108 % & 1 (FF & — 1) 18. 69



ZF 20 0m REEGH)

[1#) (  -1.9 m)

106] 38 7 & 42 (B & % —)26.42
20 5] 25600 fEz2 (B & 1 [#)27.57
3L 7] 583 1 mw2 K A 1 #)27.94

4] 4] 265f3 A =2 (= %% Jk)28.69

5[0 3] 778/ & 2 Jy2 (Fn ot K F1)29. 03

60 11 115, % # 2z 2 (&r Ji£) 29. 62
[ 2] 7054 /% F @2 (5 M & RNRS
[ 8] 2355k << o 1 GO FE — ) RIB

(3] ( +0.5 m)

10 212813)11 8 Fn % 1 (S\ 72 $HEFT) 28. 55

2[ 6] 323iTiE Hon 1 G FE 55 =)30.46

VI T

3[ 4] 256%3% Havv 2 (Il B A C)30.70

41 5] 159w Hv s 2 (Fn 3 K F1)30.72
5L 7] 719 #5 Fl 2k 1 (Fn Ot K 1) 32. 04
6[ 8] 326= F1x5 1 G FE % =)33.00
70 3] 784%k)1 fima 1 (Fn ok K Fn)33.38

4> O
s =3

1 38 1 qmHi 2 (B R —)26.42
2 256 UV H fezs 2 (A 46 B)27.57
3 58 1L mam2 Ak #)27.94
4 2813 /115" 7= 1 (X7 £4E17) 28. 55
5 265 & #t#2 (= #% Jk)28.69
6 778/ % v 2 (Fin Y& K F1)29.03
7 150K #m2 G Ji£) 29. 62
8 220 m g 4z 2 (B JE — t1)30.08
BF 200m £ 8%
(1#8] ¢ -1.6 m)
10 6]5101K 4 5 # 3 (TRIANGLE)22. 24
20 7] 8351 m fa i 3 (F A% v XA0)23. 11
30 4] 54T A lckims 2 (S5 5A0)23.79
A7 8] 862 48 "Bt A2 (Il B 7H)24.15
50 1] 81010 4 3 A 3 (FHF v RAC)24. 33
6[ 2] 8% @ 2®.D. Lab)24. 64
[ 3] 6260 & mr2 (B JE 5 o)A
[ 5] 8300 i %3 (FH% v RAC) RIB
[3#8] (  -1.2 m)
10 5] 719 k5 3% # 2 (Fn >t K Fn)24.08
20 4] 339J " gl (W JII 502447
30 7] 300 &' Kk 32 (B N AE 5E)24. 65
47 61101941 7 /-2 GE K 1)25.39
50 2] 350[ % "pe g2 GO E 5 =)25.T1
60 1] 314 & m2 (W )il 3)26.52
70 3] 340F8 7 Hgx 1 (B BE &5 —)28. 21
81 8] MK K E1 (B B & —)28.94

| I+
—_— e — ) O
W W OO OO ©©

Oon O

[2#8) (  -1.3 m)

10 6] 2200 [ 7 2 CFF )% — t1)30.08
202] 2% 52 "B=®1 (7 B = R)30.12
3L 71 767 —Amn Eap 1 (Fn St K 1) 30.19
40 5] 788y 7 & A 1 (Fn 5t K Fn)30. 65
5[ 4] 20511 /& e 4z 2 (7 R % J50)30.85
60 8] 13716y 1 (R 4 [ #5)30.94
70 3] 5/ 18 g2 (GE & I #5)31.04

X R

81 1] 202f; s magl (= 4% 4£)32.09

(2481 ¢ +0.1 m)
10651 9094 " mwr | 2 (F0 o & =)23.72
20 61 91078 5 % 2 (Fn St % =)23.78
3[ 7] 3005 4 = w2 (Il #0)24.37
40 4) 12275 Tkom (FTIRUINTFHR) 24. 54
5[ 8] 11747;%;3;:@ 2 (LR k) 24. 54
3[ 1] 3293@ %vq 2 (fﬁ JEE 7 :) 24.79
[ 3] 307p8 w1~ fE 1F 1 CBr & 55 =)24.85
8[ 2] 81 m a2 B » 2512

(448 ( -1.7 m)

10 6] 2637 i 2 2 2 (8]
2( 5] 3043 ik A2 (B
3[ 7] 27155 Tk s 2 (2 k) 26. 41
AL 8] 15 49 2 G i) 26. 58
5[ 411765404 mycss 2 (Fn ¢ K Fn)26. 88
6 2] 343/ T w2 (B B & =)27.40
7010 776 m k2 (Fn 6 K F1)27.70

Y B R

8[ 3] 2664 412 (= 4% Jk)28.09

~2)25.06
%) 25.80

L 2
oE

=



[6#8] ( -1.5 m) [6#8) ( -1.5 m)

10 5] 325870 " o (B JHE W =
2T 1] 3BOREr o1 B 226,66 L6l T8k w2 (1 X 262
i[ 811759y 1 sgok 2 (1 . K Fin)2]. 54 30 5] 730*;;??%;; Efﬂ st Ok i) 28.08
SE T) S 2 G I 21,60 Al 4] 3 E el B #)28.40
: 1 303,k g 1 OB B =) 2171 5[ 2] 349%%%- .o G 30)28. 91
[ 3] 132 ¢ £ 1 CFf i) 28. 84 D8] T8 oo (1 K )31, 62
(7481 (  -2.7 m) (o) (15 @*ﬁf) ok K ) Rig
104] 57Tk 1wl (Fn Y6 K F " P, m
1 5% 1)28. 58 1 o
20 5] 181/ fr Wi 2 (A1 S K Fn)29.30 zE 623% gg;imﬁ ﬁi Eﬁ& 'R 88
30 6] 306/ 5 i m 1 GBF & 5 —)30.05 3T 711605 5 % 1 1 ﬁ N 3156
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